Lattice Multiplication (G)

Use lattice multiplication to find each product.

8 6 2 1 4 1 3 9
8 9
2 4
8621 x 82 = 4139 x 94 =
8 8 7 7 2 3 0 6
6 9
5 7
8877 x 65 = 2306 x 97 =
4 2 6 3 7 9 1 3
9 8
1 8
4263 x 91 = 7913 x 88 =
36 8 3 9 7 9 3
7 8
4 3
3683 x 74 = 9793 x 83 =
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Lattice Multiplication (G) Answers

Use lattice multiplication to find each product.

8 6 2 1 4 1 3 9
6 /14 /Tt 10 1 ¢ 3 710 12 18 ] 9
14,8 6 8 3,76, 971
L1 10 10 7, L0 A1 A3 7,
0o 6/ 21 4/ 2 8,76, 4, 2 6
6 9 2 2 9 0 6 6
8621 x 82 = 706,922 4139 x 94 = 389,066
8 8 7 17 2 3 0 6
2 84 a6 2710 15 A
5,788 2| 2 o8l 7 ol 4
N 3 A3 s 2 0 14
7170, 0, 5|/ 5 o0 a1 ol 2
7 0 0 5 3 6 8 2
8877 x 65 = 577,005 2306 x 97 = 223,682
4 2 6 3 7 9 1 3
%%61854279 6567208248
o 7To o o { 5710 12 7 ¢
8,4, 2 6, 3 o, 6/ 2/ 8,/ 4
7 9 3 3 6 3 4 4
4263 x 91 = 387,933 7913 x 88 = 696, 344
36 8 3 9 7 9 3
2> 4 5 A2 ) 4 75 0 12 ) g
o011 21 6l 1 8,2 6/ 2/ 4
L2 13 1 7 2 2 12 710 /] 4
121 4l 2| 2 i 77117 9
2 5 4 2 2 8 1 9
3683 x 74 = 272,542 9793 x 83 =812.819
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